XF 6 OXWEE) 1A5H
% (1 A8) 24 (24) R% QK E) 24 (24)
BtREEZ 10:07 FtREEZ
B TEZ 10:23 BT
X & iEh E Pl x & =g .
S/FRR +0.0°C.” =0.0°C S/IFRR - +0.0°C/ =0.0°C
S/FER : -2.0°C/ -2.0°C S/FER : -2.0°c/ -2.0°C
IES JHEIE] BT | & K& Pz 1IARB AL 2KE S A L St A4 L
15 1 17 1 % »#E ISR 1:08. 51 1:08.51
14 2] 18 1 |#R2FE BE EEtER 1:08. 29 1:08. 29
13 3| 8 2 |81 % EEtER 1:04. 44 1:04. 44
12 4 16 3 |B=A BiE EEH T FER 1:02.73 1:02.73
11 5[ 13 1 |RE ¥&% ISR 1:01.89 1:01. 89
10 6] 9 3 |xAm % ISR 0:56. 29 0:56. 29
9 7| 23 1 |#Ww BF EEH T FER 0:53. 49 0:53. 49
8 8] 19 1 |ER BFR EEH T FER 0:53.32 0:53.32
7 9] 12 1 |E=@\ —# EEH T FER 0:49. 67 0:49. 67
g 10 7 1 ME FEB B - HRRRSK 0:48. 00 0:48. 00
5 11| 10 1 |£@E ZT3¥ LS 0:46. 76 0:46. 76
| 12/ 3 3 @R R MEEEFASK 0:45. 00 0:45. 00
3 13| 4 2 |3t = BARILKESK 0:44.04 0:44. 04
2 14 2 2 IFE $31Z EEtER 0:43. 99 0:43.99
1 150 1 2 |h@E = REPAESK 0:43. 62 0:43. 62
16 16| 21 3 |HE EE EEHEFER 1:10. 74 1:10. 74
17 17| 24 1wl hhAa EEH T FER 1:14.74 1:14.74
18 18] 6 1 | X&E »B REEEXRFHESK 1:15.01 1:15. 01
19 19] 25 1 |B@E BAgR EEH T FER 1:17.73 1:17.73
20 20| 20 1 |HH B EEi SR 1:20.97 1:20. 97
21 211 14 2 |@m =3 EEtER 1:23.40 1:23.40
D 5 3 |mpE =E ISR DS D
D 11 2 |mE BEF EEH T FER DS D
D 15 1 |BH HOH RHEERFHESK DNF D
D 22 2 |doh EEF i X FEE DS D




